ICICLE-PD ID: Quality control re-scored by T Khoo Date:

Component1l #9 Score
c1
Component 2
#2 Score C2
<15 min O = 0 0 O =0
16-30min O = 1 + #5a Score = 1-2 0 =1
31-60min O = 2 3-4 O = 2
> 60 min 0 = 3 5-6 0 = 3
Component 3 #4 Score
>7 0 = 0 c3
6-7 O =1
5-6 0 = 2
<5 O = 3
Component 4 (total # of hours asleep)/(total # of hours in bed) x 100
>85% ] = 0 ca
75%-84% O = 1
65%-74% O = 2
<65% O = 3
Component 5 # sum of scores - 5b to 5j
0 L] = 0 5
1-9 O = 1
10-18 O = 2
19 - 27 O = 3
Component6  #6 Score
cé6
Component 7 #7 score + #8 score
0 (] = 0 c7
1-2 O =1
3-4 O = 2
5-6 O = 3
Global PSQI Add the seven component scores together

[ Error detected (tick, if yes)
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